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1(@) Solve 4(y + 5) = 28

ANSWET 1 = e e e e e e e eas
(3 marks)
1 (b) Factorise x°+ 8x
F N g1
(1 mark)
2 You are given that 1 tonne = 1000 kilograms and 1 kilogram = 1000 grams
A skip contains half a tonne of magazines when full.
Each magazine weighs about 200 grams.
Approximately how many magazines would fill the skip?
ANSWET i e e e e e e
(4 marks)
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3(a) Work out the value of 3a+4bwhena=5and b = 21

ANSWET L. (2 marks)

3() Solve Bx+7=x+9

. . 4 4
4 (a) Simplify y* x y ANSWET X Sttt ettt eee e (3 marks)

N 15T Y=
(1 mark)

4 (b) Simplify »* + y*

N Q15311 =
(1 mark)
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5 ()  Simplify  3x+4x

5 (b) Simplify fully %Y

ANSWET o

5 (c) a=5andb=4
Work out the value 2a + 3b

ANSWET oo

5(d) Solve 7x+1=36

ANSWET X = i

6 (a) Simplify 4x + 3x + 5x

YN T3 =

6 (b) Work out the value of 7a + 2b whena=4and b =3

YN T3 =
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7 Write 24 as the product of prime factors.

Give your answer in index form.

ANSWET it e e et e e
(3 marks)
8 (a) Solve 7y>2y+20
ANSWET ittt e e e e e e
(2 marks)
8 (b) Circle the diagram that represents 1 < x<3
L I o o—0 *r——-0
I t i I I I I I I I I I
1 2 3 1 2 3 1 2 3 1 2 3
(1 mark)
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9 A bag contains blue, red and yellow balls.
The number of blue balls is X
The number of red balls is X + 3

The number of yellow balls is 2X
9 (a) Complete these sentences.
Choose from this list.

double two more than three more than three times

the number of blue balls.

9(a) (i) ThenumberofredballSis ......ccccceeiiiiiiiiiiiiiiiieee,
(1 mark)

9 (@) (i) The number of yellow ballsS is ............ccccimiiiiiiiiiiiii the number of blue balls.

(1 mark)
9 (b) The total number of balls in the bag is 67.
Work out the number of red balls in the bag.
ANSWET ittt e e e e e e
(4 marks)
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10 Work out the value of 5x + 3ywhen x=-2andy =6

ANSWET i e e e eeaens
(2 marks)
11 (a) Solve a+3=7
ANSWET @ = oo (1 mark)
11 (b) Solve 2a+5=1
ANSWET (I = .ovvvvviivriuriennrenrsrrrrsrresrrerrrerrrrrrrrrare————.. (2 marks)
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12 There are 320 people on a train.
20% are children.
One-half are men.
The rest are women.

How many women are on the train?

ANSWET ..ottt
(4 marks)
13 Here is a formula.
1
N=—
4 Xy
X + Vyis less than 20.
Find two possible pairs of values of x and y when N = 15
Answer X= ... X
ANswer V= i, Y S
(3 marks)
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The numbers in this sequence go down by the same amount each time.
14 (a)
74 L. 58 50 42 ...

What are the two missing numbers?
ANSWET ..o and ... (2 marks)
14 (b)  The numbers in this different sequence go down by the same amount each time.

260 o e 6

ANSWEr ..ocvvvveveenn. S e S e (2 marks)
15 (a) Solve 3x = 12

ANSWET X = Loiiiiiiiiiiiiiieeiieeieeeeeeeeeeeeeeeeeeeeseeeeeeeeeeeeeeeees (1 mark)
15 (b) Solve 4 -_¢

5

ANSWET @ = oo (1 mark)
15 (c) Solve 56 + 4 =19

ANSWET D = oo (2 marks)
15 (d) Factorise fully 4¢ - 20

ANSWET e (1 mark)
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16 (a)

16 (b)

17

18

18 (a)

18 (b)
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Work out the value of 2x + 3y whenx=5andy =8

ANSWET ...t ettt e e e e e e e e e e e e e e eeeeens (2 marks)
Expand and simplify 3(2a —4) +5(a + 2)
ANSWEL .uuuviiiiieiieeeeeeeieesseeeseeeseeseseeeeeeseessseseeeesseeseeeeeees (2 marks)
Peter thinks of a number. Two-
thirds of the number is 60.
What is 1% times the number?
ANSWET .. (3 marks)
You are given that P = x%>—y?
Show that P is a prime number when x =4 and y = 3
(2 marks)
Work out two other pairs of values for x and y so that P is a prime number.
ANSWEr X = ..o, and y = .
X and y = e (3 marks)
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*19 (a) (i) Simplify the expression

y x5
ANSWET L.ttt e e e e e e e e eees (1 mark)
19 (a) (ii) Simplify fully 2x +5y +3x -2y
ANSWET e (2 marks)
19 (b) Z represents an even number.
Explain why (z+ 1)(z—1) is always odd.
(2 marks)
20 (a) Circle all the prime numbers in this list.
3 6 7 9 10 13 15 17
(2 marks)
20 (b) x is a positive whole number.
6x —1 is nota prime
number. Work out a possible
value for x.
ANSWET  Loeiiiiiiiieiieeeeeeiesssseseeeesesssseesseeseesssesseeeseeeseeeeeees (2 marks)
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